CPE-3 REVISION WORKSHEET: 2 GRADE: 4

1. A number divided by itself is equal to ......ccceeeeeeceiene e,
2. A number divided by one is equal 0 ......cccceveirereeceecece e
3. Complete the pattern:

a) ABCBA, DEFED, GHIHG, ............... ) et

b) HIJ, LMN, PQR, .cevervieee e

c) 3100, 3200, 3300, ...ccovuereer y werrrrriinens

4., 40X10= .oeriinn

5. 70x100 = ......cc e e

o

Write the quotient and remainder of 678 = 100

~

Liya and her mother make 563 masks for sanitary makers in their neighborhood. Every

street has 9 workers. Asha and her mother have to put them in packs for every street.

a) How can Asha find out if they need to make more masks, without actually dividing
by 9?



